
Number Algebra Data Handling Shape Random

What is the probability of 

rolling two 6’s on these 

normal dice?

35, 42, 33, 55, 63, 

29, 37, 48, 43, 51

Represent this information 

in a stem and leaf diagram.

Calculate the mean from 

the data above.

State the Modal class from 

the data above.

Which class does the 

median fall in?

On the diagram above 

enlarge

the trapezium by 

scale factor ¼ 

from the origin.

Calculate the area of the 

shape below (use π = 3)

Mike reckons that 2∙5m³ 

is the same as 250cm³. Is 

he correct?

Explain your answer. 

Calculate the value of:

Find the midpoint of 

the coordinates 

(6,-5) and (8,6)

Share £60 in the ratio 2:3:5
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